

```

1 theory a_sTs01_121027 imports Complex_Main begin
2
3 --"[]"section{*The Axiom of Extension*}
4
5 --"[]"subsection{*The primitive set type and membership predicate*}
6
7 --"TYPE" typedecl--"The primitive set type  $\sigma_l$ : everything is a set."
8   sT (" $\sigma_l$ ")
9
10 --"PR $\mathcal{E}$ " consts--"Membership predicate  $\in_l$ : axiomatized by subsequent axioms."
11   inS :: " $\sigma_l \Rightarrow \sigma_l \Rightarrow \text{bool}$ "   (infixl "inS" 55)
12   notation
13     inS                               (infixl " $\in_l$ " 55)
14   abbreviation
15     niS :: " $\sigma_l \Rightarrow \sigma_l \Rightarrow \text{bool}$ " (infixl "niS" 55) where "x niS y ==  $\neg(x \in_l y)$ "
16   notation
17     niS                               (infixl " $\notin_l$ " 55)
18
19 --"[]"subsection{*Axiomatizing two forms of the Axiom of Extension*}
20
21 --".The standard Axiom of Extension is the formula
22
23   
$$\forall q_1. \forall q_2. (\forall x. x \in_l q_1 \longleftrightarrow x \in_l q_2) \longleftrightarrow (q_1 = q_2).$$

24
25 The question is whether this standard formula is equivalent to the free
26 variable proposition
27
28   
$$(\forall x. x \in_l q_1 \longleftrightarrow x \in_l q_2) \longleftrightarrow (q_1 = q_2).$$

29
30 At this point, the following counterexample shows that it is not."
31
32 --"CNTX" theorem--"The two forms are not equivalent."
33   " $(\forall q_1. \forall q_2. (\forall x. x \in_l q_1 \longleftrightarrow x \in_l q_2) \longleftrightarrow (q_1 = q_2)) \longleftrightarrow$ 
34      $((\forall x. x \in_l q_3 \longleftrightarrow x \in_l q_4) \longleftrightarrow (q_3 = q_4))$ "
35 --"nitpick[user_axioms]"
36 --"Nitpick found a counterexample for card  $\sigma_l = 3$ :
37   Free variables:  $(q_3::\sigma_l) = s1$ 
38                    $(q_4::\sigma_l) = s2$  " oops
39
40 --".However, the following locale and theorem show that if we axiomatize the
41 standard formula of the Axiom of Extension, then the standard form and the free
42 variable form are equivalent."
43
44 --"LOCC" locale standard_axiom_of_extension =

```

```

45  assumes standard·axiom: " $\forall q_1. \forall q_2. (\forall x. x \in_l q_1 \leftrightarrow x \in_l q_2) \leftrightarrow (q_1 = q_2)$ "
46
47  --"THRM" theorem (in standard·axiom·of·extension)
48  " $(\forall q_1. \forall q_2. (\forall x. x \in_l q_1 \leftrightarrow x \in_l q_2) \leftrightarrow (q_1 = q_2)) \leftrightarrow$ 
49       $(\forall x. x \in_l q_3 \leftrightarrow x \in_l q_4) \leftrightarrow (q_3 = q_4)$ "
50  by (metis standard·axiom)
51
52  --"Likewise, the following locale and theorem show that if we axiomatize the
53 free variable form of the Axiom of Extension, then the free variable form is
54 equivalent to the standard form of Axiom of Extension."
55
56  --"LOCL" locale free·variable·axiom·of·extension =
57  assumes free·variable·axiom: " $(\forall x. x \in_l q_1 \leftrightarrow x \in_l q_2) \leftrightarrow (q_1 = q_2)$ "
58
59  --"THRM" theorem (in free·variable·axiom·of·extension)
60  " $(\forall q_1. \forall q_2. (\forall x. x \in_l q_1 \leftrightarrow x \in_l q_2) \leftrightarrow (q_1 = q_2)) \leftrightarrow$ 
61       $(\forall x. x \in_l q_3 \leftrightarrow x \in_l q_4) \leftrightarrow (q_3 = q_4)$ "
62  by (metis free·variable·axiom)
63
64  --"Because we can axiomatize either form, I axiomatize both. The  $Ax \cdot x^{Nu}$  axiom
65 will be used, whenever possible, for theorems with no free variables. The  $Ax \cdot x^{Nf}$ 
66 axiom will be used for theorems which contain free variables. This allows the
67 possibility of separating the axioms and theorems with free variables from the
68 axioms and theorems which contain no free variables."
69
70  --"AXIOM" axiomatization--"The Axiom of Extension: set equality." where
71   $Ax \cdot x^{Nu}$ : " $\forall q_1. \forall q_2. (\forall x. x \in_l q_1 \leftrightarrow x \in_l q_2) \leftrightarrow (q_1 = q_2)$ " and
72   $Ax \cdot x^{Nf}$ : " $(\forall x. x \in_l q_1 \leftrightarrow x \in_l q_2) \leftrightarrow (q_1 = q_2)$ "
73
74
75  end

```